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2022

PHILOSOPHY

~( Honours )

Paper : PHI-HC-5016

( Analytic Philosophy )

Full Marks : 80
Time : 3 hours

. The figures in the margin indicate full marks
for the questions

1. Answer the following as directed (any ten) :
1x10=10
RetrpiR Rareees b fi (R e wed) -
(a) Moore was a symbolic language analyst/

orc_iinary language analyst.
(Choose the correct option)

[ G5 AOFRE oNI-Rews / STHRT /-
Roms wifte |

(e Resch Al Bfea)
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(b) The essay entitled, The Refutation of

(c)

(d)

(e)

A23/302

(2)

Idealism was first published in the year
1901 / 1902 / 1903. ¢
(Choose the correct option)

The Refutation of Idealism % o=
CAZYTIRT I 3505 / 350} [/ 509 5@
AP (2R |

(o Rty 1R B

According to Russell, ‘A gives B to C’ is
an example of atomic / molecular fact.
(Choose the correct option)
MWER o, ‘A 9§ CF B fiew’ (A gives B
to C) oI ARTRT / SRS 04 T2 |

(wm RFsC0T AR Sferean)

Who authored the book, Some Main
Problems of Philosophy?

Some Main Problems of Philosophy €%
G o1 iR 2

According to Russell, “Existence is
essentially a property of a proposition.”’
(Write True or False)

T qCo, ‘g /9 <t SorRy @9
Q1 o |

(31 1 =Pty foran)

( Continued )

(3)

(f)/ ‘A Cabinet Minister’ is an example of
ambiguous / definite description.
(Choose the correct option)

‘qE (FRED Ta G301 9o e / FfRE
IREERERCIESEE
(v Reschr TR Sfersan)

(g) Who is the founder of Vienna Circle?
o vaq dAfevee @ 2

(h) The lecture entitled, ““The Philosophy of
Logical Atomism’ was delivered in the

year 1917 / 1918 / 1919.
(Choose the correct option)

“The Philosophy of Logical Atomism”
Mfs T@OMB S53a / S5d¥ / S3dd IO
A 1 C2fR |

(7 Resichr AR Sferen)

(i) According to which contemporary group
of philosophers metaphysical statements
are meaningless?

SRS @Fcel w6 (group)d WC©
s ez we@m ?
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()

(k)

1

(m)

(n)

A23/302

(4)

An analytic proposition is a priori /
a posteriori proposition.

(Choose the correct option)
RemTe o7 o1 Sfewerl [/ SfewerE
04 |

(e Rt qfR Sferedn)

““A name refers to an object.”” Who made
the statement?

< qBr Iy FRE AT 38T SPH 17 FARR @A
3feeT ?

According to later
pictorial form is a logical form.” Is this

statement true?

oqES TRGrRRiTE We, “ffde R 96
Py o 17 ¢ RYeChT oA ?

“A propositional function can be either
true or false.’’ Is this statement true?

(1]

Wittgenstein, ‘“‘a

¢ qB1 oI T O] QT BPT] ®'F A |7

«% RfeesT 7o ?

Name the book where Wittgenstein
included the namely
“translating from one language into
another’’.

language-game,

( Continued )

_

(o)

(p)

(q)

(S

TAER (97 @I AFS ‘9Bl ORF
o]l T SR SRM A1 R SRI-FISRE
HFYS FACR, CIR TRYTT W 71 |

“Socrates is dead.” Is this fact negative
according to Russell?

“eraior W YO I 3 Y (fact)(Bl ICEW
S LT T ?

According to Wittgenstein, ‘names’ are
simple / complex symbols.

(Choose the correct option)

ThraiEEEE WS, W T W [ W
A |

(7 Resio! i Sfeean)

According to early Wittgenstein, the
world is a totality of facts / things /

* propositions.

A23/302

(Choose the correct option)

JAeeT  TRWERABTE W, WIS O
(facts) / 3% (things) / 359 (propositions)d
(2 |

(o fewor TR Sferean)

( Turn Over )



(6)

(r) Early Wittgenstein / Later Wittgenstein is
a symbolic language analyst.
(Choose the correct option)

ST TIGeERA [/ CRTOl SRR
GG OIS O[T |
(o Resco! AR Sferean)

2. Answer the following questions (any five) : 2x5=10
facare eppryed Ted i (R e o) :
(a) Why did Moore distinguish between
consciousness and object of consciousness?
Give two reasons.
T ol W GO KaE T gIRES!
ety SfRfRen 2 51 3

(b) What are the three different meanings of
the copula ‘is’ according to Moore?
@ W SAEPoR fofnl fon e
& fe?

(c) State one difference between ‘T met
a man’ and ‘I met Jones’ according to
Russell.

e T, W2 9T TRE AR e
W3 (R A R @} BN w39l
«G1 #1227 |

A23/302 ( Continued )

N

(d)

(e)

()

(g

(h)

A23/302

(7)

State two characteristics of logical

‘positivism.

O SfOFRATE o1 CAf¥ET o |

What are the two meaningful propositions
according to the logical positivists?

o e oo we o7 701 6 e 2

What is ‘fact’ according to Russell?

R (S o’ (fact) 2

State two differences between name and
descriptions according to Russell.

Wﬂz@mwﬁaﬁmw@imw
ferr |

Why does Wittgenstein refute picture
theory of meaning in his book,
Philosophical Investigations?

ERAECHEC] @43 Philosophical
Investigations =% & foa ol 2w
Sfafee 7

( Turn Over )



(1)

()

(8)

What is atomic fact? State after following
Russell.

AT o [ 2 ez P IR foran o

What is ‘state of affairs’ according to
Wittgenstein?

TRGeSRABIRTT TS RS’ (state of affairs)
&2

3. Answer the following questions (any four) : 5x4=2(

e eppryzd Ted il (R e wifven)

(a)

(b)

(c)

A23/302

Why did Moore refute Berkeley's
statement ‘essc~cst—percipi’?

{ﬁﬁ??ﬁﬁﬁ‘ﬂ%@mﬁ@'w
ST FRC= 2

Why did logical positivists try to
eliminate metaphysics from the domain
of philosophy?

O AT R R e
SRR SR TR 2581 Seriafie 9 i

Write a short note on Verification theory

o O A afs 59 Gy forgy |

( Continued )

N

(9]

(d) How does Russell demonstrate the
proposition ‘‘Scott is the author of
Waverley’” by analyzing it into three
simple propositions? Explain.

e “‘Scott is the author of Waverley”
/w01 (FCTed TofoT e ote Resma 3R
CTRARCR ? 0 41|

(e) How does Wittgenstein use language as
tools? Explain.

SRR v SR STl R R
R ? W F9 |

(f) Explain the relation between meaning and
use according to later Wittgenstein.

ool TRGreRAET Woo oY HF AR TS
@] I A 0

(g) Write a short note on Vienna Circle.

fogg v TE «fb 5 G
(h) Write a short note on language-games.
- TS afb 5 G o |
A23/302 ( Turn Over )



(10)

4. Answer the following questions (any four) :
| : 10x4=40
e PR e faa (R e wif i) -

- {a) How does Moore refute idealism?
Elucidate.

SCATBAT 4 |

(b) How does Moore defend commonsense
through his paper entitlted A Defence of
Common Sense? Discuss.

L&l (€9 A Defence of Common Sense
MW M GRWS @A MR S
ST FRCZ ? A 97 |

(c) Explain different characteristics of analytic
philosophy.

fResmarass v Rfn tafigrmz o =41

(d) Discuss the various kinds of proposiﬁoﬁs
put forward by Russell in his The
Philosophy of Logical Atomism.

#9619 The Philosophy of Logical
Atomism'S ST RfeH svRe 1 gy
S{ICEAToT 97 1

A23/302 ( Continued )

Y —

r—l il

(e)

®

(g

(h)

(i)

A23/302

(11)

'Expla.in Russell’s .views on propositional

function and existence.
w0

. Critically explain Russell’s theory of

definite descriptions.

Wﬁﬁ'@ﬁwWWW
HIRTET |

Explain picture thebry of meaning by
following Wittgenstein.

TRsinEiee Sp IR Wl B TR0 I
|

Nlustrate Wittgenstein’s ‘Private Language
Argument’.

CeREN ReTe SRR IR AR
HIcema! 4 |

Discuss Wittgenstein’s concept of ‘Family
Resemblance’.

St RART TP AR
S 97 1

( Turn Over }



(12 )

() Elucidate  philosophical ideas  of
Wittgenstein as- reflected through his
book, Tractatus Logico-Philosophicus.

THeRiER  wRT WP cod
Tractatus Logico-Philosophicus %% R
afowfre tar, TR o |

* %k %k
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PHILOSOPHY

( Honours )

Paper : PHI-HC-5026

( Phenomenology and Existentialism )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed (any ten) :
1x10=10

o frRcaed et Tea fan (R e wed)
(a) Who among the following philosophers
was a believer of the central tradition of
Christianity?
oo @eE T FEE e T RS
1St siifeet 2
(i) Jean Paul Sartre /%01 *@ =&
(i) Soren Kierkegaard /(oTae SIcFHaNG

(iii) Friedrich Nietzsche /BrefRF <
(Choose the correct option)

(W feesco! qife Sferedr)
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(2)

(b) “Life can only be understood backwards,
but it must be lived forward.” Who said

this?
“EETF (T POMISTAE I W, R W
SRy FARE R 1 @I (FRe 2

(c) “In phenomenology, one can get rid of
any kind of obstacles of philosophical
analysis through bracketing.” 1Is this
statement true?
“alifeare asibet wRwe e Remw
R @ I4E /A % I AR 17 WA
o 7

(d) Husserl equated his phenomenological
view on intentionality with Meinong /
Frege / Russell.

(€hoose the correct option)

BRI (9$7 YOI Wﬁ (intentionality)
4RENCHT (IR / @GRl / R O I 3

51 FRRA |
(% Reacor MR Sfeyean)

(e) The meaning of the word ‘epoche’ is
reduction / analysis / bracketing.
(Choose the correct option)

‘Epoche’ &9 w¥ 271 Rufaaq / Rawa /

QFR |
(= RFach i Sferean)
( Continued )

A23/303

(38)

() Kierkegaard’s . philosophy started by
_reacting against Hegel / Locke / Russell.
(Choose the correct option)
FFNR 77 @@ | 7 [ Wen Reem
eiffer oot Tet (3 |
(% o @i Sferear)

(g) * ‘Dasein’ or ‘Being-there’ teaches us
objective reality.” Is this statement true?

s ] ele ARIOIE 89S e AT
FE 1’ YR O ? -

(h) For existentialists, which among the
following is real?

SRR 0o ST CFRCH! 341 <1 A ?
(i) Spatiotemporal existence
TH-FETS ST
(ii) Essence
fere
(iii) Self
1|
(Choose the correct option)
(= o AR Tren)
( Turn Over)
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(4) (5 )

(i) Who said that authentic existence is the (m) “Anxiety is the . dizziness of freedom.”
best possible nature of human existence? ' Who said this? o .
Y R AR SRR B ey SRy )
[ 9 ?
£ ) e ' RO S | @mw

(h) Who is the author of the book Bemg and

(i) ‘‘The aim of phenomenology is to accept
the presuppositions of a given system.” .sze"
Is this statement true? Being and Time 7 B @7
2B 7 XA A 47 R ',' rafes {0) Who is:the author of the book, Nausea?
FRYRIPTR TR FR IR 1”7 FIAA o7 ? | -
. : Nausea &1 g @=1? -
(k) The book, Existentialism and Humanism , ' _
was first published in French / German / (p) Which career did Sartre refer to as an
Greek language. act of bad faith in his book, Being and
(Choose the correct option) . \ Nothingness?
!} - .
Existentialism and Humanism 2% 2 i wd% (9$q Being and Nothingness &S
730 / e / A SRS 2P C2fRE | - o 3RS IR I T TREIRR ?
(% Resichr iR Sferean) (g) “Sartre believed that life is preordained.”

() ‘Noema’ in Husserl’s phenomenology Is this statement true?
refers to real content / ideal content / gy R 3@ @ & vﬁﬁzﬁﬁ' © 1" FYEA
both real and ideal contents of an 511 7
intentional act.

(Choose the correct option) (r) “Existentialism bclievcs - that humans

make their decision subjectively.” Is this

e d8ifeame e W' GBI SR |

e B Reg / R REes / IR statement true? | w

W e Ty 2 e T | ‘me’c’qumﬁﬁm
(= Rescor iR o) SETeR T ¥C3 1”7 FYRR o0 1
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(6) (7)

2. Answer the following questions in brief . (e) Write two procedures for using
(any five) : ' 2x5=10 phenomenology.

o oA 5 TR i (R e <o) ;- 2rSYeaT 2SI 1 aiferm fora

(a) Why is Kierkegaard considered .as the

‘Father of Existentialism’? (f) Write two names of atheistic existentialist

Hiknte Ry <R g’ o FR =2 philosophers.
() Name two philosophers who inspired Bl Ii.lﬂ i et e A e
Husserl in forming his notion of
pl?esrslomenology & (g) Match the following lists :
TRRlF (967 ABIRAM R RS TS S B 1 e fora
o iR A e List1 4 List-1I
(c) Write the name of any two works written o] Lz
by Husserl. ‘ (i) Intentionality 1. Kierkegaard
el Bt R GGl 3 2% T o - A Pdars
d) Match the followi book ith thei ) (ii) Subjectivity of truth 2. Husserl
(d) tc e following books wi eir oR S _—
authors : : (iii) Bad faith 3. Heidegger
oo 2 F AR AR e R .
Books Authors . (iv) Ontology 4. Sartre
L4 LCet wgRm o
(i) Either/Or 1. Jean Paul Sartre
Lk
(ii) Identity and Difference 2. Kiérke:jr q (h) State any two obstacles that obstruct
. Pt the exercise of man’s freedom according
(iii) Existentialism and Humanism 3. Husserl to Sartre.
pog B T
(iv) Logical Investigations 4. Heidegger e T AR T o ?Iﬁﬁ 3[@ = Tﬁﬂ
TSI FRE Sy TN
( Turn Over )
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(9)

(8)
(i) What, according to  Hegel, is (d) F.lxplaifl : I-’Iusserl’s concept of
phenomenology? intentionality’.
e e IR’ (intentionality)<
SR TORPIR 2roifeam &2
i HSETICO! T 35407 |
() What is the distinction between ‘ (e) Explain Sartre’s concept of ‘nothingness’.
descriptive and transcendental TS PITS o] 31 ARG’ L=ETH! 17
phenomenology? ey
; U e © o (f)]  Explain Sartre’s view of freedom.
?
A9 TS FETOR GREICH I 9 |

(g) Write distinctions between authentic

3. Answer the following questions (any four) : 5x4=20
and inauthentic existence in Heidegger’s

O TR T 2 Ie1 BifSoY) -
i < fran (1 ) philosophy.
(a) Briefly outline Kierkegaard’s notion of [ T 7fe7o I F SRAY ST TS
‘existence’. NAFPR o4 |
FICHMET AFT'T AR SIS AR 591 | (h) Explain  Heidegger's  concept  of
. ‘being-in-the-world’.
How does Kierkegaard It i
’ s ; g revolt against BRI GerofFe-Tal’ YIREC! 101 91 |
Hegel’s rationalism?
Biesict R W Re0a 4. Answer the following questions (any four) :
o , s foa 10x4=40
(c) Give a brief account of the relationship | (a) Write the salient features of existentialism
between pure logic and phenomenology_ as a philosophical movement.
um s R O8 ) T e SeweE  fRRRe SREAmE TR
wf¥pe fagad i | (BpTR fod |
| Turn Over
o A23/303 ( )
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(b)

(c)

(d)

(e)

1

(&)

A23/303

(10)

Explain the three spheres . of human
existence in Kierkegaard’s philosophy.

FFMEI 7o TR SR &9 FRBR T
91!

explain the
freedom and

How does Kierkegaard
relationship  between
subjectivity? Elucidate.

e IO wF SEPBER TS T
o I eiRe 7 IR o o

Explain the basic features of Husserl’s
phenomenology.

WWWW‘IW{QWWI

What, according 0 Husserl, is
phenomenological reduction? Explain,

R Teo AN Rofeaa &2 oy =7 |
Distinguish between ‘being-for-itself’ and
‘being-in-itself’ in Sartre’s philosophy.
T P T WY W e e
Tree (1% o 41 |

Explain the -existential significance of the
view that ‘truth is subjective’,

) WD’ AN SHEFER Sresf 3y7ay
4|

( Continued )

(h) .

(i)

G)

A23—5000/303

(11)

Explain the concept of humanism of Sartre
following Existentialism and Humanism,

Q9 Existentialism and Humanism I
SRR TFRORIR 4R 0001 3947 |

“Existence precedes essence.” Explain the
underlying meaning of the statement,

“ofty AT @@ 1’ e SRRe
2 T 91 1

Critically ~ outline the fundamental
characteristics of Heidegger’s philosophy.

WWW@WWWW
I SIRCGHT |

* %k k
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